
USER'S MANUAL
SYLVIA SERIES

UPHOLSTERED SOLID WOOD BED-KING SIZE



8



Hardware list

x2pcs1
Headboard Leg L/R

x1pc2
Headboard

x2pcs3
Side Panels

x2pcs4
Side Panels

x2pcs5
 Side Panels Legs

x2pcs6
Slat

x12pcs
 Support Leg For Slats

7 x4pcs
 Support Bars

8 x2pc
Footboard Leg

9

x 6+1pcsA
CBC Bolt: 1/4*38

x 8+1pcsB
CBC Bolt: 1/4*32

x 14+2pcsC x 14+2pcsD x 10+1pcsE

x 12+1pcsF x 12+1pcsG x 1pcH x 2pcsI x 40+4pcsJ

TOOLS REQUIRED  (NOT PROVIDED)
Cross-head screwdriver

Spring Lock Washer: 1/4 Flat washer: 1/4 Full thread bolt: 5/16*80

Hex Nut: 5/16 Half Moon Washer: 5/16 Allen Key: L60*4 Wrench: 12*90 Wood Screw: 8*25

x1pc
Footboard
10

1-R

1-L

2

3

4

9

9
10

3

4

5

5

7

7
7

7
7

7

7

7

7
7

7

7

8

8

8

8

6

6

3

Parts and hardware list :

Parts list

○ Make sure all parts are in the package.
○ "+" in below list indicates that additional pieces are replacement parts.



1

2

A

100%

80%

100%

C
D
H

6
6
6
1

E 4

E

H
A C D

4

是

Please completely �ghten the bolt E in this step.

Please completely �ghten the bolt A in this step.



4

3 E
F
G

2
2
2

F
G

2
2

I 2

100%

80%

100%

5

As shown in the figure, place F and G inside the hole,
insert E and then connect it with F and G. Please
make sure they do not loose or fall out when twisted.

x2

x2

F
G

E

I
I

3

4

F
G

F
G

3

Please completely �ghten F in this step.



6

5 B

100%

80%

100%

C
D
H

8
8
8
1

F
G

4
4

I 1

100%

80%

100%

6

x2

H

C
B

D

3

4
5

I

G

G

F

F

3

4

4

3

Please completely �ghten the bolt B in this step.

Please completely �ghten F in this step.



7

7

INSIDE

INSIDE

10

9

9

E

8 E 4Please completely �ghten the bolt E in this step.



9 F
G

4
4

I 1

100%

80%

100%

8

GF

GF

I

5

10 Adjust the leveling feet of part ⑤ until they support and keep
the side panels levelled.

Please completely �ghten F in this step.



9

87
7

7

12

x4

7

11

Adjust the leveling feet of the legs ⑦ to ensure all slats ⑥
are leveled and staying at the same level.

6

6



13

10

14

J

TOOLS REQUIRED
(NOT PROVIDED)

J 40

100%

80%

100%

Please completely �ghten J in this step.


